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Why is this true:

P(1.2<x<1.5) = P(1.2<=x<=1.5)

For Continuous Probability Distributions?

Continuous variables and the associated Probability Distributions are all about area. We will not talk about P(x
= 1.2), for example, we will only talk about area (area = probability) between two x values. The reason why
we cannot talk about P(x = 1.2) is because it is a line and lines have no area. Thus:

P(1.2<x<1.5) = P(1.2<=x<=1.5) because lines have no area.

f(x = 1.2) and other single x calculations for Continuous Probability Distributions do exist and can be
calculated, but they are not probabilities, they are “heights” (how tall).

In the Uniform Probability section, they do not do such a good job of talking about this. They allude to it on
page 248 about half way down in the paragraph with the bold number two before it. They say: “It also
means that the probability of a continuous random variable assuming a value in any interval is
the same whether or not the end points are included.” That means this:

P(1.2<x<1.5) = P(1.2<=x<=1.5)

In the section on Standard Normal Probability Distribution on page 254 in the margin, they explicitly state
that:

P(z<=1.00) = P(z<1.00)

I hope that helps.
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